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Note :- Attempt all questions.
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Internal options are given in Question No. 8 to 17.
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Instruction (A) : Question No. 1 is an objective type
question. It has three sections. In Section (A) Multiple
choice questions, in Section (B) Fill in the blanks and in
Section (C) Match the following are given. Each Section
has 5 questions. Each question carries 1 mark.
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QquE - (3)

(T&fawRdIT W)

Section - (A)
(Multiple Choice Questions)

WHA-1 & ey e fafi, [1x5=5|
Choose and write the correct option:

() Wfe it w1 SETen A ST

(3 T @) W

@) A @ ST

Father of Aromatic compounds is-

(a) Methane (b) Benzene

(c) Butane (d) All of the above
(i) A&

(30) WA (@ T

@) s @) IgF o

Alkane is-

(a) Methane (b) Ethane

(c) Propane (d) All of the above
Aiii) FXHF AR
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Pea Flower is -

(a) Self-pollinated

(b) Cross pollinated

(c) Both (a) and (b)

(d) Not both (a) and (b)

(iv)- Fae TegHfag # gzt 2t &

() Ardvaws
@) FEEEET
@ () M@ AR
@ (3 IR @) A T
Only glycolysis occurs-
(a) Aerobic respiration
(b) Anaerobic respiration
(c) Both (a) and (b)
(d) Not both (a) and (b)

v) Tt et T I e -

(3N Wl  TeEA

@) " @ JogFaft

Plant of Malvaceae family for economic importance
is-

(a) Gooseberry

(b) Hibiscus rosa sinensis

(c) Tumip

(d) All of the above
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gug - (d)
(Fear Tt < )
Section - (B)
(Fill in the blanks)

-1 R @t i gfd A [1x5=5)
Fill in the blanks:

() FEERFIREE ¥

Father of Genetics is

(i) ADP & 7AW 2
Full name of ADP is

(iii) STEfTs &9/ N N i wvand [dLICECR:
o It A
The height of genetically dwarf plants increases by

giving hormone.

«iv) M gar ot fower g fanfla it it &
‘Pusa Larma’ variety of wheat has been developed
by :

(v) v @1 Afan Ieae Fe 31g anangs ik

&

The end products of aerobic respiration are carbon

dioxide and
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e - (W)
(e 2 )
Section - (C)
(Match the following)
-1 @ SE TR [1x5=5]
W ® Y '
(i) RIS (3) TEARTEH
(i) RS @ HERFUTEE
(iii) & ¢ @) TN wEd
(iv) o @ eEhe
(v) Wm#R, (% vifedduzss
Match the following:
Column ‘A’ Column ‘B’
(i) Glucose (a) Disaccharides
(it) Lactose (b) Monosaccharides
(i) Starch (¢) Kusumi crop
(iv) Lac (d) Tasar insect
(v) Silk worm (e) Polysaccharides
1-242410-B
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q¥4-2

T¥ 4

T+ -6

-7

T @) : o i 2 @ 7 ety g 30 W § TRE
T W 2 3k A& & Iax & srfeaan wee-Himr 30 v15a
L4

Instruction (B) : Question No. 2 to 7 are very short
answer type questions. Each question carries 2 marks.
Maximum word-limit of answer is 30 words.

(3t g Iata 99)
(Very Short Answer Type Questions)

I fore e

What is molecular formula?

i faeraa fFd Fma 0
What is Normal solution?

+ U IR IS T Bhet I T et 31mam 20

oftet aur S 6 e

Find the area of a parallelogram whose base is 20 meters
and height is 6 meters. https://www.cgboardonline.com

What is hybridization?

ok & v

What is gene?
Rt TTor & i @ et F Ty Rafa

Write name of any two insects of order Hemiptera.

2]

12]

12]

2]

12]

[1+1=2
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Instruction (C) : Question No. 8 to 12 are short answer
type questions. Each question carries 4 marks.
Maximum word limit of answer is 75 words.

(Y 37T 9H)
(Short Answer Type Questions)

g8 FrafaRaa sieer w smafy smaa o g Reme: 4]

Teigli (& | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
FHad A | 5 | 10 | 15 [ 25 [ 35 | 15 | 5
e

Show the following data through histogram:

Wage (Rs) | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 [ 50-60 | 60-70 |
No. of 5 10 15 25 35 15 5
employees B
A
OR

ey rfirrat 6 3ty e g e Afae
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Slnwﬂtmofﬂ)cfollouingpwplcﬂrowghahﬂ
chagram:

 People Al B | C D E
Income (Rs.) | S0 | 100 | 200 | 300 | 400

Y9 B anvh & g area g Eifav, 4]
Eij 0-10 1 1020 | 20-30 | 3040 | 40-50

Eci 19 T 12 | 8 4 |

Find the anthmetic mean from the following table:

' Class 10-10 [ 10-20 | 20-30 | 3040 | 40-50
Frequency ' 7 91’1258|41
arera
OR

et wwoft & e 8t o Fifar.

IR EE) (10 |12 14 ] 16 | 18 1 20
: e Aa—— {
mtEA T (13 20 | 5 | 8 | s
| deAT | | |

Find the median from the following table:

Agermym), 1011214 ] 16 | 18 | 20
! i | [

' No. of jlfta;zolsfsis.

waews |

f | i | i §
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aE-10  TH AR 3N vaE § Fd 9 s Rl [1x4=4]

Write any four differences between photosynthesis and
respiration.
N

OR
a6 AR froaw ¥ i = I fafiag)

Write any four differences between respiration and
fermentation.

TE-11 B & T T 9 el wa ast s g [242=4]
Write floral formula of Pea flower and draw a floral
diagram.
qr
OR

TR & o7 T 9 | i va s s semgy
Write Floral formula of Makoy’s (Solanum nigrum)
flower and draw a floral diagram.

W12 AR T6 F SN A T S A i A A e (1344

Write any four differences between internal combustion
engine and external combustion engine.

<L L)
OR

g e w1 3R favrarm 3 v ww s Rk

Write any four differences between electromotive force
and potential difference.
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e @ : & FWiw 13 T 14 9 3909 T § 9dE T
W 5 3 ATEfed & S srftrman wez-dir 150 sz B

Instruction (D) : Question No. 13 and 14 are short
answer type questions. Each question carries 5 marks.
Maximum word limit of answer is 150 words.

(Y 3wl )
(Short Answer Type Questions)
W13 ot amft & v e @ e fmem 3w At 5]
//1'{..

an 0-10 | 10-20 | 20-30 | 3040 | 40-50

ATEAT 2 7 10 5 3
Find the mean deviation from the arithmetic mean in the
following table.

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 2 7 10 5 3
A9aT/ OR
frferfiaa aneft & sges g0 fifve:
E Ui 0-10 | 10-20 | 20-30 | 30-40 | 40-50
AT 2 10 8 7 3
Find the mode from the following table:
Class 0-10 [ 10-20 | 20-30 | 3040 [ 40-50
Frequency 2 10 8 7 3
.L~-242410-B

HREI NI osee

https://www.cgboardonline.com



(11)
we-14 T & wY ol g [1x5=5]
write any five properties of Light.

ey
OR

forgga & st & e ¥ ¢ ot 3ur ferfRng

Wnite any five safety measures in using electncity.

R @) . s 158 17 7% O Intr v h WQ@e 1=
W 6 3 Iafen & Ia A sty sisg-dha 250 v By

Instruction (E) : Question No. 15 to 17 are long answer
type questions. Each question carries 6 marks. Maximum
word limit of answer is 250 words.

(@ Jnlta v )
(Long Answer Type Questions)

H-15  fud Ui & #id 9 IgahT fafan
) Write any six uses of Ethyl Alcohol.

[1x6=6|

L)
OR

i @i%ﬁﬁ:mm

Write any six uses of Glucose.
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WA-16 AR & e A e sl wamifea R [442=6]
ST AU HS <t 3N ey forfiayy

Make a labelled diagram of the different stages of the

life-cycle of Honey-bee and write any two economic
importance.

v
OR

ARG AT & Ha-ash ol fafiw sraearatt &1 amifha o
FIRT a9 F13 < e wew fafan

Make a labelled diagram of the different stages of the
life - cycle of Lac insect and write any two economic
importance.

T¥A-17 o6 50 F5d 7 AR e IR FQR AW R QI (14342
fefa =6|

What is lens? How to identify it and write any two uses.

oA

OR
I § R R &7 50 e MO T ShRT e
ferfiay |

What is heat engine? Write briefly its main parts and
types.
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